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1700 ;zzz 1700 \_‘
2. 00m 9. 00m 2. 00m \ ‘ >< >< ><
13. 00m \——— [
EFEBLETIDI VR IETIVR
EE HmEmS R 40 m




3. EHMEBI(avsY—rE&ILITH)

27N
THEMIK o DR
ZAE0E : 4. 0m
THEST: 1.6m
XS : B
MBINE: afgT
HBIITE : 250mm
#HERD: a2 U—FrE&EITO)
BHRAIEE THZE
ERR LT 2.400%2.100+1/4% 7t x2.10072 = 8.50 m2
R -(2.400%1.600+1/4% 7 x1.60072) = -5.85 m2
H = 2.65 m2
avo)— REIR
Tuh-#4#% . D51
HIFLZE - 1030mm
BT = 46 PR
T U h—iEAM IR*HE
HIFLEZ - 61mm
A6EFATH Y ((0.06172—0.05172) x 7 x1/4x1.030x 46) x = 54.51 kg
1200 x (1+0. 09)
1EYY ((0.06172—0.05172) x t x1/4%x1.030) x1200x = 1.19 kg
(1+0. 09)
AV )— R EIT afi L, ock=24N/mm2, LT H
et2= (2.400x2.100+1/4x 7 x2.10072— (2. 400 x = 16.98 m3
1.6004+1/4x 7t x1.60072)) x 6. 400
FHR=E= F%it=x 1+K 16.98 x(1+ 0.04) = 17.66  m3
&R+t BER
{#RE= Con{k#s x 20kg/m’ 17.66 x 20 kg/m® = 353.20 kg
ES ] SD345
D51 HmEmS R = 6556 kg
D22 -HES R = 1569 kg
B = 8125 kg
AT
HAEE
D51+D51 HES 8 = 46 &HFT
L7 -5
w8k ERD22 = 86 iR
BEER 0.220x 86 = 18.92 m
FHEEEE
=7 >h— D13
LEY, =260 = 63 &Fr
D13 -HmEmSHR = 16 kg
—IL# —IL#
MR 2.400%2+ 7t x1.600 = 9.83 m

ffA=E 1/2x0.020x0.020%9.83x1700x (1+40. 14)

3.81 kg



4. EignET
OB AR aVy ) — bk (ER)
FERI#HsR T
avy1)— hElE
D51FL 1/4x 7t x0.064772 x 1. 030 x 46

0.16

m3



